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Замена крупных мер 
мелкими.
Замена мелких мер 
крупными.
Интерактивный тренажёр.

Содержан
ие



3р. =          к.    
1р. = 100к.
3р. = 100к. × 3
3р. = 300к. 7м =          см    

1м = 100см
7м = 100см × 
7
7м = 700см

9ц =          кг    
1ц = 100кг
9ц = 100кг × 9
9ц = 900кг



6дм =          см
1дм = 10см
6дм = 10см × 
6
6дм  = 60см

8м =          дм
1м = 10дм
8м = 10дм × 8
8м  = 80дм

2т =          ц
1т = 10ц
2т = 10ц × 2
2т  = 20ц

4см =          мм
1см = 10мм
4см = 10мм × 
4
4см  = 40мм



2м7дм =            дм
1м = 10дм
2м = 10дм × 2 = 20дм
20дм + 7дм = 27дм
2м7дм  = 27дм 

5т3ц =            ц
1т = 10ц
5т = 10ц × 5 = 50ц
50ц + 3ц = 53ц
5т3ц  = 53ц 



4м75см =          см
1м = 100см
4м = 100см × 4 = 
400см
400см + 75см = 475см
4м75см = 475см  8р.9к. =          к.

1р. = 100к.
8р. = 100к. × 8 = 800к.
800к. + 9к. = 809к.
8р.9к. = 809к.  



20мм =          
см
10мм = 1см
20 : 10 = 2
20мм = 2см

25мм =                  
10мм = 1см
25 : 10 = 2(ост. 
5)
25мм = 2см 
5мм



300мм =           
дм
100мм = 1дм
300 : 100 = 3
300мм = 3дм 200к. =           р.

100к. = 1р.
200 : 100 = 2
200к. = 2р.

475к. =                        
100к. = 1р.
475 : 100 = 
4(ост.75)
475к. = 4р.75к.



325см =                        
100см = 1м
325 : 100 = 3(ост.25)
325см = 3м 25см            

407кг =                        
100кг = 1т
407 : 100 = 4(ост.7)
407кг = 4ц 7кг            



8р. =          к.?

Выбери правильный 
ответ:

80 800

81018



5дм =      
см

?

Выбери правильный 
ответ:

500

50 10

55



10м =           
см

?

Выбери правильный 
ответ:

100

1 000

10

50



4м 5см =         
см

?

Выбери правильный 
ответ:

54

405 450

45



9м 1дм =       
дм

?

Выбери правильный 
ответ:

19 91

109 901



4cм 1мм =       
мм

?

Выбери правильный 
ответ:

1441

401 104



80мм =       
см

?

Выбери правильный 
ответ:

18

8800

10



92ц =                  ?

Выбери правильный 
ответ:

2т 
9ц

9т 
2ц

9кг 
2ц

9т 
20ц



900см =    
м

?

Выбери правильный 
ответ:

919

9019



834к. =                ?

Выбери правильный 
ответ:

83р.4к
.

8р.34к
.

4р.83к
.

4р.38к
.



908кг =                ?

Выбери правильный 
ответ:

9ц 
80кг

9ц 
8кг

9т 
8кг

90ц 
8кг
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